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Attempt any two from the following :

a. Solve by simplex method
MaxZ=8xr+2Ox,
subject to:

Zxr+ Y, < 80"' Resource I

3xr+ 4x, < 96... Resource ll

(Xr. Xz) ) 0
Find optional profit ( Max Z)

Please check whether you have got the right
1. All questions are compulsory.
2. Figures to the right indicate full marks,
3. Use of non-programmable calculator is

4. Normal distribution table is printed on
5. Support your answers with diagrams/
6. Graph paper will be supplied on

rn-

Q.P.

80 respectively. 7.5
Availability of

and solve by graphical

method.
the help of a neat sketch.

and 1000 units respectively. There are
700 and 800 units respectively. A feasible

-fq g fns \1 / oV*** "(h,r.*rrr/.1.F
I,&

,,,{.

Q.1 .5

b. ABC Ltd. manufactures two
One unit of P requires 2
machine hours is 48.
Maximum market
method to obtain

c. Answer the
i)

ii)

iii)

Q.2 Attempt
a.A

four
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b. There are four machines Mr, Mz, Mgand M+' There are five

Cost of doing each job on each machine is given below (in

Find optional assignment of machines and jobs to minimize tota

c. Answer the following;

jobs P, q, R, S

i) Explain the stePs involved in sq

ii) Explain whdt.(s meant bY d

iii) Explain whY Vogel's a

corner rule (NWCR)to

Q.3 AttemPt any two from the fol

a. A small project consists of
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c. Answer the following:
i) Explain difference between CPM and PERT.

ii) Explain what is time cost trade off in project crashing
iii) What are the objectives of project crashing?

Attempt any two from the following:
a. Fou r strategic alternatives Sr, Sz, Ss and

N+

S+ are available for

:in

Q.4

,

,iri.,

Based on the above information;
i) Calculate EMV (exp
ii) Find EPPI (expected

information)
iii) Corrstruct

b. Following payoff matrix
strategi

ton

of perfect
03
02

l:i

2.5
2.5
2.5

2.5
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02

player has four

210
240
-20

100 50

machines A and B in the order AB.

UCNCC of jobs.

um elapsed time
for each machine.

3
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States of
Nr

Probability 0.2 0.1_,::",.,ii:li

Strategy Sr 1269:tri,1i'.1200

Strategy Sz 1040 -1280='.^,.''

Strategy 53 880 1080,
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Q.5 A company produces two products A and B' Profit per unit for A and B

Three resources Mr, Mz and M: ?r€ utilized. Capacities of Mr, Mz and

Following feasible solution has been obtained by simplex method.
Based on the solution answer the fotlowing questions'

a2
02
a2
02
03
02
02

50 0Cj+g 30
SrX Xr XzC

0 10 Si 1

00 Sz -3r/?.
1s0 Xz 3t/?

75 50 li; i:,tr -,0'-'Z,

TURN OVER

,

t

ls this optimal solutions? Justify.

What is optimal product mix and

ls there degeneracy in the
ls it unique snlution or are

What are the shadow
Which resources are
Find percentage

L

ii.

iii.
iv.

vi.
vii.
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NORMAT DISTRIBUTION TABTT
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il.00 0"01 0.02 0.03 0,it1 0.0) 0.06 s.07 0.09 0"09
0.& 0,0000 0.il04s 0.0080 CI.oi 2Li 0,0 r6{) 0,0199 0.0239 fr.fi?19 0.03 r9 0.0359

0.I 0.0398 0,0438 0.0478 0.05I 7 0.i)557 0,0596 0.0636 0.06?5 0.0714 0.0753

0.2 0.0?93 0.087 i 0.0910 0.0948 0.09$7 0.r026 0.1064 0.1 1 03 0.114l
s.3 4.117e 4.12fi 0, I 2s5 0.1293 0,1 33 t il.1368 0. I 406 0.r443 0.1480 0.1517
0.4 0.1554 0.159r 0,1628 0. r 664 0. i 700 0.1736 4.t772 0. r 808 0.r844 0.18?9

0.5 0.1 91 5 0.1 950 0,1 985 0,2019 0,2(]54 0,2088 0.2123 ft2157 s.2190 4.22?4

0.{ 9.2251 0.22q r 0.232,1 0.235? I 0.Z"tSl

0.2613 | 0 1701

rl 1l?1 0.2454 0.2486 a.2s17 0.2549

{,7 0.2580 0.2611 4.2642 0,?734 0.2764 4,2794 0.2823 0.285?

0.8 0.288 i 0,2910 0.2939 0,296] 0.299s 0.3023 0.3CIs r 0.3078 0.3106 CI.3133

0.9 0.3159 0.3186 a32n 0.3238 0^3164 0,3289 0.3315 0.3340 0.336s 0.3389
1.S 0.3413 0.3438 0,3461 0.3485 0,3508 0.i5i r 0,3554 43577 0.3599 0.362r
i.I 0.3643 0.3665 0,3686 0.370s 0.3i29 0,3749 0.3770 0.3790 0.3810 0.3830

1,? 0.3849 0.3869 0.3888 0.3907 0,392.j 0,3944 0.3952 0.3980 0.3997 0.4015

1;3 0.4032 0.4049 0 .406 6 0.4082 0.,1099 u,41 l5 0.4 r3 1 fr.4147 0.4162 0,4177

1,4 0.4192 0.4207 0.4222 0.4236 fj.4?51 0.4265 4.421E 0.4297 0,4306 0.4319

1.s 0.4332 0.4345 0.4357 0.4370 0.4382 0.43q4 0.4406 0.4418 0.4429 0.4441

1,6 0,4452 0,4463 0.4474 0,4484 0.4'1.j5 0.4i05 0.45 i 5 0.4525 0.4535 0.4545

1,7 0,4"i-54 0.4564 0.45?3 0.45S2 r) -1it) i ll dir)q n d(n! NLKlK 0.4625 fi /t(12

1.8 0.4641 0.4649 0,,+656 0,4664 0.4671 0.4678 0.4686 0.4693 0.4699 0.4706

1.9 0.4713 0.4719 4,4726 0.47i1 0,17i8 0 4i44 0.4750 0,4756 a,4i6t 4.4761

2,0 *.4772 0.4778 0.4783 0.4788 0,479i 0,4i98 0.4803 0.4808 0.4812 0.4817

?.1 0,4$21 0,4826 0.4830 0.4834
\ 1()1o

l.1. "l ,l -1 0
/! !O !/t
1/.r+J.{-L 0,4846 0.4850 0.4854 0.4857

71 0.1861 0.4864 0.4868 0.48i r 0.4"q7i 0,4873 0.4881 0.4884 0.4887 0.4890

2.3 0.4893 0.4896 0.4898 0.4901 0.4!10,1 0.4906 0.4909 s.4911 0.4913 0.4916

2.4 0.4918 0.4920 0.4922 0,4q15 0.,1927 0.4929 0.,1931 (t.4932 0.4934 0.4936
,( 0,4938 0,4940 0,4941 I 0.4943 I 0,4e1.5 u,+v+0 0.,1948 0.1949 0.495 r 0.4952

2,6 0,4953 0.49s5 0.4956 0.4-e57 0.4-0i9 0,4960 0.4961 0.4962 0.4963 0.4964
arl 0,4965 0.4966 (J.+yo 

1 0,4963 rJ.4lio9 0.,1970 0.4971 0.4912 4,4973 0,4974

2.8 4.4914 0.4975 0.4976 4.491i '\),4YlT 0.4978 0.4979 4.4979 0.4980 0.4981

,0 0,4981 0.4982 0.498? 0.498i 0,4984 1 .,.'+'/il4 0.4985 0.4985 0.4986 0,4986

3.0 0.4987 0.1987 0.4987 0,4988 0.49S8 0,4989 s,4989 0.4989 0.4990 0.4990
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